31 01 21

G )
2,609) | 2,607 | 0| 2| 0 0.07
H29 R3 R2 R5 R4
53,088/  H29 56,000 / RS
53088/ 55356/ 56000 7
11,004 /  H29 12,381 / RS
11094 / 11923 / 12361 /
61 /ha H29 61 /ha RS
61 /ha 61 /ha 61 /ha
4,942 /  H29 5,60 / RS
4942 / 5590 / 5620 /
3,484 /  H29 3,200 / RS
3484 / 3300 / 3200 /

0000233434




H31 |Ro2 [R03 [RO4 [ROS

A13-001 [ B BN A B ] 76
A13-002 [ I B A B | 1,599
A13-003 L= | B ] 630 (1.2
A13-004 | B ] 128 |1.2
960 2
A13-005 [ B BN A B ] 63
L] 249 |
A01-006 L= | I ] 111)1.2

0000233434




H31 |Ro2 [R03 [RO4 [ROS

111 |

2,607|

0000233434




H31 |Ro2 [R03 [RO4 [ROS

C13-001

0000233434




H31

€)) 520

() 0

(c=a+b) 520
@ 0

© 194

® 326

@ 58

(h = c+d-e-f) 0
(i = (g+h)/(c+d)) 11.15

10

0000233434



